' Total numberof printed pages—4
3 (Sem-3/CBCS) Z0O HG/RC
2021
(Held in 2022)
' ‘ZOOIFJOGY
(Honours Generic/Regular)
'Paper : ZOO-HG-3016/RC-3016
A Physiology and Biochemistry)
" Full Marks : 60
Time : Three hours
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SJull marks for the questions..

Answer either in English or.in Assamese.

1. Fill in the blanks : 1x7=7
AN MR w: | -
(@) Vassopressin -hormone deficiency
causes ........oeno0 disease.

.................



(e Leydig cells secrete ................ .

hormone. ,
@R @REIE e, TN w99
I - :

(d) The peptic cells of gastric glands secrete
el Affe 4B il @R
................. o IR _

(e) .ooovirinininnnn. is the protein part of
holoenzyme. oo
................. et (T BT S & et oIk |

1) ‘Bundle of His’ is found‘ 1) o SR .
&W WT% ................. -9 Wﬁi%\g.'j

(G)  creereereenenn gland secretes luteinizing
hormone. - .

................. 23 ORAIOR T T I |
2. Answer in brief : (any four) 2x4=8

vt ©eq il 3 (Al Do)
(a) Define Michaelis constant.
| R s g P
(b)) What is chloride shift ?
| FaiEs g 7
(C) Define Synapse. :
WY Mg o Gl
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(d) Significance of Urea Cycle.
3TRA vt wlesH|

(e) - What is muscle contraction ?

ARIACA IFRCPIGA Iferce & e
3. Wrife short notes on : (any three)

| 5x3=15
53, COrel ot & (Rieserant o151
(a) Oxygen dissociation curve

R Reew @@
(b) B-oxidation of palmitic acid
siEfice GRes [l 9 -
" (c) .Krebs’ cycle ' -
(d) Neurotransmitter .

T

(e) Role of hormones in female reproductive -

‘ . ion ? Describe in
a. . d coagulation ’
What is bloo f blood coagulation.

X anism O
detail the mech . 248=10
S— -I@?@mwwa&mm
T, IR foral| |
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Or [ &4t .
What is digestion ? Explain in detail the
physiological process of carbohydrate
digestion in man. - .2+8=10
Ao 2 T (RS W ﬂwa'¢vnrwﬁ12m?ﬁt
IR =F40

5. Describe the mechanism of Enzyme action ? -
‘Write a brief note on Enzyme kinetics.
| 5+5=10
T IR 3 731 | S ﬂf—ﬁ@m’wm@
oY (Bipt ’l?wn
Or / §<41 ‘
Define action potential. Describe in detail -

the conduction of nerve impulse along a
non-myelinated nerve fibre. 2+8=10

- o Re' o vl i femRRN SIpeRs Site@
R 2w 6NHWEQSRM3§V§ﬂ?ﬁFﬁ51%PHI

6. What is countercurrent mCChamSm ? Write
- a short note on mechanism of urine

formation. : S+5=10
AT Gire wfe e 7 Gl ﬁmﬁﬁﬂm«ﬂﬁ
5§;ﬁW$rﬁ¢ml

| or | 94l

Explain in detail the mechanism of Electron
Transport Chain in mitochondria.

S W1 g AR T Wﬁqﬁ
T
.
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